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,t;tpdhj;jhis Fwpg;Gfs; nfhLf;fg;gLk; tiu jpwf;ff;$lhJ gpupT mjpfhup $wpagpd; jpwf;fTk;. 

(Open Candidates) / (nghJ tpz;zg;gjhuu;fSf;FupaJ) 

 

 

  

  

TNUSRB – SI 2022 

FULL TEST - 03 

ehs; & Njjp : rdpf;fpoik> 18> [{d;> 2022       Time / fhyk; : 2:30 kzp 

Neuk; : fhiy 10.00 kzp Kjy; 12:30 kzp tiu          Total Marks / nkhj;j kjpg;ngz;fs; : 70 

Instructions – mwpTiufs; 

1. This question paper contain 70 questions in part A (General knowledge) and 30 questions in  part B (Psychology) related 
subjects. 
,t;tpdhj;jhspy; gFjp „m‟ nghJ mwptpy; 70 tpdhf;fSk; kw;Wk; gFjp „M‟ cstpay; rk;ke;jkhd ghlq;fspy; 30 
tpdhf;fSk; cs;sd. 

2. The type of question paer (A,B,C or D) should be shaded in the answer sheet using blue or black ball point pen. The 
answers sheet without shading the type of question paper will not be evaluated. 
,e;j tpdhj;jhspd; tifia (A,B,C or D)tpilj;jhspy; mjw;Fz;lhd ,lj;jpy; ePyk;. (m) fUg;G epw ghy; ghapd;l;Ngdhitf; 
nfhz;L vOjp gpd; gl;il jPl;lTk;. tpdhj;jhspd; tifia gl;il jPl;lhtpl;lhy;> me;j tpilj;jhs; kjpg;gplg;glkhl;lhJ. 

3. Write the Registration No. using blue or black ball point pen at the appropriate box in the answer sheet. 
tpilj;jhspy;> ePyk; (m) fUg;G epw ghy; ghapd;l; Nghditf; nfhz;L gjpT vz;iz mjw;Fupa fl;lj;jpy; vOjp> gpd; gl;il 
jPl;lTk;. 

4. Answer all the 140 questions should be shaded in the relevant circles using blue or black ball point pen. 
Answer all the 140 questions- 140 Nfs;tpfSf;Fk; tpilaspf;f Ntz;Lk;. 

5. Each question carries half a mark. xt;nthU Nfs;tpf;Fk; miu kjpg;ngz; toq;fg;gLk;. 
6. The answers to the question should be shaded in the relevant circles using blue or black ball point pen. 

tpilfis ePyk; (m) fUg;G epw ghy; ghapd;l; Ngdhitf; nfhz;L me;je;j tl;lq;fspy; gl;il jPl;lTk;. 
7. For each question only one answers is to be chosen and shaded. 

xU tpdhtpw;F xU tpilia kl;LNk gl;il jPl;lTk;. 
8. For wrong and improper shading, no marks will be given. 

jtwhf gl;il jPl;bdhNyh> mbj;jy; jpUj;jq;fs; nra;jhNyh me;j Nfs;tpf;F kjpg;ngz;fpilf;fhJ. 
9. Write the Registration No. in the question paper- gjpT vz;iz Nfs;tpj;jhspy; vOjTk;. 
10. Write the SI.No of the OMR answer sheet in the question paper at the appropriate place. 

OMRtpilj;jhspd; vz;iz Nfs;tpj;jhspy; vOjTk;. 
11. If there is any printing error in page No. in the question paper , the same should be brought to the notice of the invigilator 

immediately. 
ckJ tpdhj;jhspy; VNjDk; mr;Rg; gpioNa> gf;fq;fs; rupahf ,y;yhtpl;lhNyh> Nkw;ghh;itahshplk; Kiwapl;L rupahd 
Nfs;tpj;jhisg; ngw;Wf; nfhs;SkhW mwpTWj;jg;gLfpwJ. 

12. All the questions are bilinguial except language questions (English & Tamil) 
ghlg;gFjp (Mq;fpyk; kw;Wk; jkpo;) Nfs;tpfis jtph;j;J midj;J Nfs;tpfSk; ,uz;Lk; nkhopfspYk; nfhLf;fg;gl;Ls;sd. 
 

 

 

 

tpdhj;jhspd; tupir vz;. tpdhj;jhspd; tif gjpT vz; 

OMR tpilj;jhspd; vz; 
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1. nghUe;jhj ,iziaf; fhz;. 

A) Re;juu;   - jpUj;njhz;lj; njhif 
B) ek;gpahz;lhu; ek;gp -; jpUj;njhz;lu; jpUte;jhjp 
C) Nrf;fpohh;  - jpUj;njhz;lu; Guhzk 
D) fhupahrd;  - Mrhuf; Nfhit 
 

2. Which of the following used as anaesthetic agent? 

A) Ether   B) Acetone   C) Aldehyde    D) Glycerol  

fPo;f;fz;ltw;Ws; kaf;f %l;bahf gad;gLtJ vJ? 
A) <jh;   B) mrpl;Nlhd;  C) My;bi`L  D) fpspruhy; 
 

3. How many number of viruses are known to cause Hepatitis? 

kQ;rs; fha;r;riy vj;jid tifahd itu];fs; cz;lhf;Ffpd;wd? 
A) 9   B) 8    C) 7    D) 6 

 

4. Device used to detect the level of exposure to an ionizing radiation? 

A) X ray detector B) Dosimeter   C) Galvanometer  D) Spectrometer 

madpahf;Fk; fjph;tPr;rpd; mstpidf; fz;lwpAk; rhjdk;? 
A) X fjph; kPl;lh;  B) NlhrpkPl;lh;  C) fhy;tdhkPl;lh;  D) xsp ,io kPl;lh; 
 

5. Find sum of : 1 + 3 + ⋯ + 21 

$Ljy; fhz;f: 1 + 3 + ⋯ + 21 

A) 441   B) 144    C) 121   D) 331 

 

6. The angle between 5𝑖 +  3𝑗 +  4𝑘  , 6𝑖 −  8𝑗 − 𝑘   for cos 𝜃 _____ 

5𝑖 +  3𝑗 +  4𝑘  , 6𝑖 −  8𝑗 − 𝑘   ,ilg;gl;l Nfhzk; cos 𝜃 vd;gJ_____ 

A) 
 2

5 101
   B) 

 2

 101
    C) 

 2

 505
   D) 

− 2

 101
 

 

7. Which of the following leads to double counting in GDP? 

A) Final goods      B) Final Services 

C) Intermediate goods     D) Sold goods 

gpd;tUtdtw;Ws;; vit GDP –y; ,UKiw fzf;fplYf;F (double counting) toptFf;fpwJ? 
A) KbTw;w nghUs;     B) KbTw;w gzpfs; 
C) ,ilepiyg; nghUl;fs;    D) tpw;fg;gl;l nghUs; 

 

8. How many languages are printed in the bank notes in India? 

,e;jpahtpd; tq;fp (fhfpjk;) gzj;jpy; vj;jid nkhopfs; mr;rplg;gl;Ls;sd? 
A) 22    B) 24    C) 15     D) 17 

 

 

PART ‘A’ : General Knowledge 
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9. This is the house ______ I was born  

A)  what   B) where   C) whom   D) whose 

 

10. Blood is formed in to human adult by the? 

A) Heart       B) Spleen     

C)  Red bone marrow     D) Yellow bone marrow  

tsh;r;rpaile;j kdpjdpd; ,uj;jj;ij cUthf;FtJ? 
A) ,jak;       B) kz;zPuy;    
C) rptg;G vYk;G k[;i[    D) kQ;rs; vYk;G k[;i[ 
 

11. nghUj;Jf. 
1) gha;]; fk;ngdp  - (a) kJuftp gh];fujh]; 
2) `p];kh];lu; tha;];  - (b) Mu;.v];. kNdhfu; 
3) vjpu;f;fij ehlfk;  - (c) rq;fujhr Rthkpfs; 
4) ,yq;Nf];tud;  - (d) gk;ky; rk;ke;jdhu; 
A) 1(c) 2(a) 3(d) 4(b)     B) 1(b) 2(d) 3(a) 4(c) 

C) 1(a) 2(d) 3(c) 4(b)     D) 1(d) 2(a) 3(b) 4(c)  

    
12. Hemophilia is a human disease caused by? 

A) Bactria infection  B) Fungal infection  C) Mutant gene   D) Viral infection 

P̀NkhgPypah vd;fpw ,uj;j ciwahik Neha; vjdhy; Vw;gLfpwJ? 
A) ghf;Bhpah njhw;W %yk;    B) g+Q;ir njhw;W %yk; 
C) jpBh; khw;wk; %yk;     D) ituy; njhw;W %yk; 
 

13. Choose correct antonym:  

Pongo  locked the narrator inside the cabin 

A) closed   B) sealed    C) released   D) chocked  

 

14. The seminiferous tubule is the supporting cells are cells of specialized functions called? 

A) Cells of sertoli B) Cells of Labules  C) Cells of Legdig  D) Cells of scrotum  

Mz; ,dg;ngUf;f cWg;gpy; nrkpdpngu]; nry;Yf;F gf;fgykhf ,Uf;ff; $ba nry;fs;? 
A) nrh;Nlhyp nry;     B) NygpNahy; nry;   
C) yPbf; nry;      D) tpijg;igapy; cs;s nry;  

 

15. Total no of nucleus in mammalian RBC is? 

ghY}l;bfspy; ,uj;j rptg;G nry;fspy; cs;s cl;fUtpd; vz;zpf;if 
A) 3   B) 2    C) 0    D) 1 

 

16. Which one is an important vector for plague disease? 

A) Mosquito  B) Housefly    C) Flea   D) Snail 

gpNsf; Nehapd; Kf;fpa flj;jp vJ? 
A) nfhR   B) <    C) /gpsp   D) ej;ij 
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17. Which law states that the stress is proportional to the strain in the elastic limit? 

A) Hook‟s law  B) Ohm law   C) Joule‟s law  D) Pascal law 

kPl;rp vy;iyapy; jifthdJ jphpGf;F Neh;j;jftpy; cs;sij $Wk; tpjp? 
A) P̀f; tpjp  B) Xk; tpjp   C) [Py; tpjp   D) gh];fy; tpjp 
 

18. Kala – azar is causes by? 

A) Plasmodium vivax     B) Leishmania donovani  

C) Leishmania tropica     D) Trypanosoma Gambiens  

fhyh mrh; Neha;f; fhuzp? 
A) gpsh];Nkhbak; iythf;];    B) yP];Nkdpah Nlhdhthdp 
C) yP];Ndpah buhgpf;fh     D) bhpg;gpNdhNrhkh Nfk;gpad;];  
 

19. Which device is used to convert AC in to DC? 

A) Rectifier  B) Invertors   C) Amplifier   D) Transformer 

khWjpir kpd;Ndhl;lj;ij Neh;jpir kpd;Ndhl;lkhf khw;w gad;gLk; fUtp. 
A) kpd;fy jpUj;jp B) Neh;khw;wp   C) ngUf;fp   D) kpd;khw;wp 

   

20. Which among the following the velocity of sound wave is maximum? 

A) Solid   B) Liquid   C) Gas   D) All of these 

gpd;tUtw;wpy; xyp miyfspd; jpirNtfk; mjpfk;? 
A) jplg;nghUs;  B) jputk;   C) thA   D) midj;Jk; 

   

21. The eye defect “Hypermetropia” can be corrected by? 

A) Convex lens  B) Concave lens  C) Convex mirror  D) Bi focus lens 

J}ug;ghh;it Fiwghl;il rhpnra;a cjTtJ? 
A) Ftp nyd;];      B) Fop nyd;];   
C) Ftp Mb      D) ,U Ftpa nyd;]; 
 

22. Force acting on the particle moving with constant speed is? 

A) Always Zero      B) Need not be zero   

C) Always non zero     D) Cannot be concluded 

khwh jpirNtfj;jpy; nry;Yk; Jfspd; kPJ nray;gLk; tpirapd; kjpg;G vd;d? 
A) vg;nghOJk; Rop     B) Ropahf ,Uf;f Ntz;ba mtrpakpy;iy 
C) vg;nghOJk; Ropaw;w kjpg;G   D) KbT nra;a ,ayhJ 

   

23. 𝑥 +
1

3
 𝑥3 +

2

15
 𝑥5 +…. is ______ 

𝑥 +
1

3
 𝑥3 +

2

15
 𝑥5 +…. vd;gJ  ______ 

A) sin 𝑥   B) tan 𝑥   C) cos 𝑥   D) log 𝑥 

 

24. „ghujpapd; fbjq;fs;‟ vd;Dk; E}ypd; Mrpupau;  
A) guyp. R. ney;iyag;gu;    B) uh.m. gj;kehgd; 
C) ftpNfrup rhkp jPl;rpju;    D) t.c. rpjk;gudhu; 
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25. Which of the following is started at August 6 1952?  

A) Planning commission    B) NITI Aayog  

C) National Development Council   D) All the above 

fPo;f;fz;ltw;wpy; Mf];l; 6> 1952 y; njhlq;fg;gl;lJ vJ? 
A) jpl;lf;FO      B) epjp MNahf;   
C) Njrpa tsu;r;rp FO     D) midj;Jk; 
 

26. Expansion of job opportunities are seen in ___________ sector 

A) Primary   B) Secondary  C) Tertiary    D) Quarternary 

Ntiytha;g;Gfspd; tpupthf;Fk; Jiwapy; fhzg;gLfpd;wJ. 
A) Kjd;ik epiy B) ,uz;lhk; epiy  C) %d;whk; epiy  D) ehd;fhk; epiy 
 

27. The tangent of circle and its perpendicular radius lies on ________ 

A) Centre   B) Intersection point  C) infinite   D) Chord  

tl;lj;jpd; njhLNfhLk; mjd; MuKk; nrq;Fj;jhf mikAk; ,lk; ________ 

A) ikak;   B) njhLGs;sp  C) Kbtpyp   D) ehz; 
 

28. The Bahamani kingdom was founded by  

A) Alaudin Hasan Bahmanshah    B) Adil shahi   

C) Mohammed Gavan     D) Qutub shahi 

ghkpdp muirj; Njhw;Wtpj;jtu; 
A) myhTjPd; `rd; ghkd;\h    B) mby; rh`p 
C) KfkJ fthd;     D) FJg; rh`p 
 

29. The first Europeans to establish themselves in India were  

A) The Dutch  B) The French  C) The British  D) The Portuguese  

,e;jpahtpy; Kjyhtjhfj; jq;fis epiyepWj;jpf; nfhz;l INuhg;gpah; 
A) lr;Rf;fhuh;fs;  B) gpnuQ;Rf;fhuh;fs;  C) Mq;fpNyau;fs;  D) Nghh;r;RfPrpah;fs;  
 

30. The Act which introduced diarchy at the provinces was 

A) The Indian council Act, 1892   B) The Indian council Act, 1909 

C) The Government of India Act, 1919  D) The Government of India Act, 1935 

khfhzq;fspy; ,ul;ilahl;rp Kiwia mwpKfg;gLj;jpa rl;lk; 
A) ,e;jpa fTd;rpy; rl;lk; 1892   B) ,e;jpa fTd;rpy; rl;lk;> 1909 
C) ,e;jpa muRr; rl;lk;> 1919    D) ,e;jpa muRr; rl;lk;> 1935 
 

31. The Buddist texts were compiled in 
A) Hindi   B) Pali    C) Tamil   D) Sanskrit 
ngsj;j ,yf;fpaq;fs; njhFf;fg;gl;l nkhop 
A) ,e;jp   B) ghyp   C) jkpo;   D) rk];fpUk; 
 

32. Which of the following E-wastes to cause chronic damage to brain and Respiratory system? 
A) Lead   B) Chromium   C) Cadmium   D) Mercury  
ve;j kpd;dDf; fopTfshy; kdpjDf;F %is kw;Wk; Rthr kz;lyj;ijg; ghjpf;fpwJ? 
A) <ak;   B) FNuhkpak;   C) Nfl;kpak;   D) nkh;Fhp 
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33. Match the following: 

a) Brahmo samaj - 1) Jyotiba phule 

b) Prarthana samaj - 2) Raja Rammohan Roy 

c) Arya Samaj  - 3) Dayanand Saraswati 

d) Satyashodak samaj - 4) Atma Ram Pandurang  

nghUj;Jf: 
a) gpuk;k rkh[k;   - 1) N[hjpah g+Ny 
b) gpuhh;j;jid rkh[k;  - 2) uh[h uhk;Nkhfd; uha; 
c) Mhpa rkh[k;   - 3) jahde;j; ru];tjp 
d) rj;jpa Nrhjf; rkh[k; - 4) Mj;kuhk; ghz;Luq; 
A)  2  1  3  4  B)  3  4  1  2   C)  4  3  2  1   D)  2  4  3  1 

 

34. Vitamin is used for induced blood clotting? 
A) Vitamin A  B) vitamin B1   C) Vitamin – K  D) Vitamin – E 

,uj;jk; ciwjy; nraypy; gq;FngWk; itl;lkpd;? 
A) itl;lkpd; A  B) itl;lkpd;  -B1  C) itl;lkpd; – K  D) itl;lkpd; - E  
 

35. The Nalanda University was founded by  

A) Sri Gupta  B) Samudragupta  C) Skanda Gupta  D) Kumara Gupta 

ehse;jh gy;fiyf; fofj;ijj; Njhw;Wtpj;jtu; 
A) =Fg;ju;  B) rKj;jpuFg;ju;  C) ];fe;j Fg;ju;  D) Fkhu Fg;ju; 

 
36. Which Country is also known as the “Land of thunderbolt”? 

A) Bangladesh  B) Bhutan   C) Nepal   D) Myanmar 

,b kpd;dy; epyk; vd;W miof;fg;gLk; ehL vJ? 
A) tq;fhsk;  B) G+lhd;   C) Neghs;   D) kpahd;kH 
 

37. If the man and radius of the Earth are both doubled, then the acceleration due to gravity „g‟? 

A) Remains same B) 
𝑔

2
    C) 2g    D) 4g 

Gtpapd; epiwAk; MuKk; ,Uklq;fhdhy; <h;g;gpd; KLf;fk; „g‟? 

A) khwhJ   B) 
𝑔

2
    C) 2g    D) 4g 

 

38. McMahon Line is a border between? 

A) India and Bhutan     B) India and Nepal 

C) India and Pakistan     D) India and China 

kf;kfhd; vy;iyf; NfhL ve;j ,U ehLfSf;fpilNa cs;s vy;iy MFk;? 
A) ,e;jpah kw;Wk; G+lhd;    B) ,e;jpah kw;Wk; Neghsk; 
C) ,e;jpah kw;Wk; ghfp];jhd;    D) ,e;jpah kw;Wk; rPdh 
 

39. Gandhiji was  physically thrown out of the first class rail compartment at  

A) Durban  B) Pietermaritzburg  C) Pretoria   D) Transvaal 

Kjy; tFg;G ,uapy; ngl;bapypUe;J fhe;jpabfs; tYf;fl;lhakhf ntspNaw;wg;gl;l ,lk; 
A) lh;gd;   B) gPl;lh;khhpl;];gh;f;  C) gphpl;Nlhhpah  D) buhdp];thy; 
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40. Who wrote a book called “An enquiry into the nature and causes of wealth of nations”? 

A) Adam Smith       B) Lionel Robbins  

C) Karl Marx       D) Friedrick Engels 

“An enquiry into the nature and causes of wealth of nations” vd;w Gj;jfj;ij vOjpatu; ahu;? 

A) Mlk; ];kpj;      B) ypNahdy; uhgpd;]; 
C) fhu;y; khu;f;];      D) gpnunlupf; Vd;n[y;]; 

 

41. Which is not a characteristic of land? 

A) It is free      B) It is fixed in supply 

C) It is perishable     D) It is primary factor of production 

gpd;tUtdtw;wpy; vJ epyj;jpd; rpwg;gpay;Gfs; my;y? 
A) ,J ,ytrkhdJ     B) ,J tpepNahfj;jpy; epiyahdJ 
C) ,J mope;J Nghff; $baJ   D) ,J cw;gj;jpapd; Kjd;ik fhuzp 

 
42. Which Agriculture type is known as „Jhumming‟? 

A) Humid cultivation     B) Intensive cultivation  

C) Mixed agriculture     D) Shifting cultivation 

ve;j tptrha tif „[Pk;kpq;‟ vd;W miof;fg;gLfpwJ? 
A) <ug;gj rhFgb     B) jPtpu tptrhak;   
C) fyg;G tptrhak;     D) ,lg;ngau;T rhFgb 
 

43. Black soil is otherwise known as  

A) saline soil  B) Arid soil   C) swamp soil   D) Regur soil 

fupry; kz; ………… vd;W miof;fg;gLfpwJ. 
A) ctu;g;G kz;  B) twz;l kz;  C) rJg;G kz;  D) nu$u; kz; 
 

44. If one person salary increases 10% after its decreases 10% then change its salary is ____ 

xU egupd; tUkhdk; 10% mjpfupf;fg;gl;L gpwF 10% Fiwf;fg;gLfpwJ vdpy; mtUila 
tUkhdj;jpy; Vw;gLk; khw;wk; ____ 
A) 1%   B) 10%   C) 100%   D) 15% 

 

45.  𝑖−1924 + 𝑖2018   value _____ 

𝑖−1924 + 𝑖2018   kjpg;G _____ 
A) 𝑖   B) -1    C) 0    D) 1 

 

46. Which one of the following is non-conventional sources of energy? 

A) Coal   B) Solar energy  C) Oil    D) Electricity 

fPo;f;fz;ltw;Ws; vJ kuG rhuh vuprf;jp MFk;? 
A) epyf;fup  B) #upa rf;jp  C) vz;nza;   D) kpd;rhuk; 
 

47. Which is the biggest nuclear power station in India? 

A) Kalppakkam  B) Bangalore   C) Tara Pur   D) Kanpur 

,e;jpahtpYs;s kpfg;ngupa mZkpd; ciy vq;Fs;sJ? 
A) fy;ghf;fk;  B) ngq;fSH   C) jhuhG+H   D) fhd;G+H 



 
 

POLICE, ARMY, NAVY, AIRFORCE               Contact : Vellore– 72004 00398, Trichy – 81110 70708 Page 8 

48. Joint Session of Parliment is presided by? 

A) Speaker of Lok Sabha     B) The President 

C) Deput Speaker of Loksabha    D) Chairman of Rajya Sabha 

ehlhSkd;w $l;L$l;lj;jpw;F jiyik jhq;Fgtu; ahu;? 
A) kf;fsit rghehafH    B) FbauRj;jiytH 
C) kf;fsit Jiz rghehafH   D) khepyq;fsitj; jiytH 
 

49. Where is the Head quarters of SAARC is located? 

A) New Delhi  B) Abu Dhabi   C) Kathmandu  D) Dhaka 

rhh;f; mikg;gpd; jiyikafk; vq;F mike;Js;sJ? 
A) GJ nly;yp  B) mGjhgp   C) fhj;khd;L   D) lhf;fh 
 

50. If President dies While in office, the Vice President Can act as President for a maximum time period of? 

A) 1 years   B) 3 months   C) 6 weeks   D) 6 months 

FbauRj; jiytu; ,we;J tpl;lhy; FbauRj; Jizj; jiytu; FbauRj; jiytuhf vt;tsT 
fhyk; gjtp tfpf;fyhk;? 
A) 1 tUlk;  B) 3 khjq;fs;  C) 6 thuq;fs;   D) 6 khjq;fs; 
  

51. The Chief Election Commissioner can be appointed by the? 

A) Prime Minister      B) President    

C) Vice President      D) Chief Justice of India 

jiyikj; Njh;jy; Mizaiu epakdk; nra;tJ ahu;? 
A) gpujkH       B) FbauRj;jiytH 
C) FbauRj; Jizj;jiytH    D) ,e;jpa jiyik ePjpgjp 
 

52. Who is the first female Speaker of Lok Sabha? 

A) Pratibha Patil      B) Sarojini Naidu   

C) Meira Kumar      D) Sumithra Mahajan 

kf;fsitapd; Kjy; ngz; rghehafu; ahu;? 
A) gpujpgh ghl;by; B) rNuh[pdp ehAL  C) kPuh FkhH   D) Rkpj;uh kf[d; 
 

53. I tried out ______ experiment. 

A) a   B) an    C) the    D) No article  

 

54. I reached on time _______ I missed my train (use link word)  

A) and   B) so    C) but    D) otherwise  

 

55. „Mwhk; thrfg; Gj;jfk;‟ vOjpatu;> rkur rd;khu;f;f rig vd;w ehlff; FOit cUthf;fpatu; 
KiwNa. 
A) fhy;Lnty;> rq;fujhr Rthkpfs;   
B) [p.A. Nghg;> gk;ky; rk;ge;jdhu; 
C) rp.it. jhNkhjudhu;> rq;fujhr Rthkpfs;  
D) kha+uk; Ntjehafk;> gk;ky; rk;kge;jdhu; 
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56. fhg;gpa ,yf;fzk; KOtJk; epuk;gpa E}y;; jkpod;id ngw;w ey; mzpfydhf jpfOk; E}y;; 
jkpopd; Kjy; gh tbt ehlf E}y; - vd;wthW Gfo;ngw;w Xh; E}y;. 
A) ,ul;rz;a ahj;uPfk; B) njhd;D}y; tpsf;fk; C) kNdhd;kzPak;  D) ,NaR fhtpak; 
 

57. The basic distinction between M1 and M2 is with regard to. 

A) Post office total deposits    

B) Saving deposits with post office savings bank 

C) Terms deposits of banks    

D) Currency 

M1 kw;Wk; M2 Mfpa ,uz;bw;Fk; cs;s tpj;jpahrk; 
A)  mQ;ry; mYtyf itg;Gfs;   B) tq;fpapd; fhy itg;Gfs; 
C) tq;fpapd; Nrkpg;G itg;Gfs;    D) fhfpjg;gzk; 
 

58. Choose the incorrect statement regarding Reserve Bank of India: 

A) It was formed on April 1, 1935 in accordance with the RBI Act, 1934 

B) It was nationalized on January 1, 1949 

C) Its Headquarter was moved from Calcutta to Bombay in 1950 

D) Osborne Smith was the first Governor of RBI 

,e;jpa uprtu;t; tq;fp njhlu;ghf gpd;tUk; $w;WfSs; jtwhd $w;W vJ? 
A) RBI rl;lk; 1934-d; gb ,e;jpa upru;t; tq;fp 1935 Mk; Mz;L Vg;uy; - 1 – Mk; Njjp md;W 
Njhw;Wtpf;fg;gl;lJ. 
B) ,J 1949 [dtup 1 md;W Njrpakakhf;fg;gl;lJ. 
C) ,J 1950 Mk; Mz;L RBI -d; jiyikafk;; fy;fj;jhtpypUe;J gk;gha;f;F khw;wg;gl;lJ.   
D) RBI–d; Kjy; MSeu; X];Nghu;d; ];kpj; Mthu;. 
 

59. nghUe;jh ,iziaf; fhz;. 
A) e. Kj;Jrhkp  - ehw;fhypf;fhuh;> ,q;fpyhe;J> tpwF ntl;bfs; 
B) ,e;jpuh ghu;j;jrhujp - ,uhkhE[u;> Nghu;it Nghu;j;jpa cly;fs;> nfhq;ifj;jP. 
C) K. ,uhkRthkp - xsit> kzpNkfiy 
D) gpugQ;rd;  - Kl;il> mfy;ah. 
 

60. “ROM” means ______ 

A) Read of Memory     B) Read only Memory  

C) Read of Man      D) Read only Man 

 

61. “Mathematics” → clipped word is 

A) Maths   B) Math   C) Matics   D) Matrix  

 

62. Which Isotope of Hydrogen does not contain a neutron? 

A) Protium   B) Deutrium   C) Tritium   D) All the above 

epa+l;uhd; mw;w i`l;u[dpd; INrhNlhg;G vJ? 

A) GNuhl;bak;      B) bA+l;upak;    

C) bhpl;bak;      D) Nkw;fz;l midj;Jk; 
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63. Whose reign was remarkable for the completion of Qutb  Minar? 

A) Qutb-ud-din-Aibak B) Iltutmish   C) Raziya sultana  D) Balban 

ahUila Ml;rpf; fhyj;jpy; FJg;kpdhh; fl;b Kbf;fg;gl;lJ? 
A) Fj;GjPd; [gf; B) ,y;Jkp\;   C) u]pah Ry;jhdh  D) ghy;gd; 
 

64. The mughal king who re-imposed Jizya tax was 

A) Akbar   B) Babur   C) Aurangzeb  D) Sha Johan 

[p]pah thpia kPz;Lk; tpjpj;j Kfyha murh; 
A) mf;gu;   B) ghgh;   C) xsuq;frPg;   D) \h[fhd; 
 

65. Which is used for treatment of brain tumours known as BNCT? 

A) B9 Isotope  B) B11 Isotope   C) B10 Isotope  D) B12 Isotope 

BNCT vdg;gLk; vJ %iy fl;bfSf;fhd rpfpr;ir mspf;fg; gad;gLfpwJ? 
A) B9  INrhNlhg;G  B) B11 INrhNlhg;G  C) B10  INrhNlhg;G  D) B12 INrhNlhg;G 
 

66. The chemical composition of flammable ice is? 

A) CO + methane  B) CO2 + Methane  C) H2O + Methane  D) CN + Methane 

vhpAk; gdpf;fl;b vd;gjd; gFjpg;nghUs;fs; vit? 
A) CO + kPj;Njd;  B) CO2 + kPj;Njd;  C) H2O + kPj;Njd;  D) CN + kPj;Njd; 
 

67. Chemical formula of Blue vitriol is ______ ? 

kapy; Jj;jk; vd;gjpd; Ntjpg;tha;g;ghL ………….. ? 
A) FeSO4. 7 H2O  B) MgSO4. 7H2O  C) ZnSO4. 5H2O  D) CuSO4 . 5 H2O  

 

68. Which metal is best conductor of electricity? 

A) Copper (Cu)  B) Aluminium (Al)  C) Iron (Fe)   D) Silver (Ag) 

ve;j cNyhfk; rpwe;j kpd;flj;jp? 
A) fhg;gh; (Cu)  B) mYkpdpak; (Al)  C) ,Uk;G (Fe)  D) nts;sp (Ag) 

 
69. Planaria reproduces asexually by? 

A) Fragmentation B) Fission   C) Budding   D) Regeneration 

gpsNdhpahtpy; eilngWk; ghypyh ,dg;ngUf;f KiwahdJ? 
A) Jz;lhjy;  B) gpsj;jy;   C) nkhl;LtpLk;  D) ,og;G kPl;ly; 
 

70. Which of the Five-Year plan was launched once after the New Economic Policy?  

A) Ninth Five Year plan      B) Eighth Five Year plan 

C) Tenth Five Year Plan     D) Seventh Five Year plan 

Gjpa nghUshjhuf; nfhs;iff;Fg; gpwF ve;j Ie;jhz;Lj; jpl;lk; nfhz;L tug;gl;lJ? 
A) xd;gjhtJ Ie;jhz;Lj; jpl;lk;   B) vl;lhtJ Ie;jhz;Lj; jpl;lk; 
C) gj;jhtJ Ie;jhz;Lj; jpl;lk;   D) VohtJ Ie;jhz;Lj; jpl;lk; 

 

71. Pusa komal is a disease resistant variety of 
A) Sugarcane  B) Rice   C) Cow pea   D) Maize  

g+rh Nfhky; vd;gJ vjd; Neha; vjphpg;Gj;jpwd; ngw;w ufk; MFk;? 
A) fUk;G   B) ney;   C) jl;ilg;gpapW  D) kf;fhr;Nrhsk; 
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72. Match List-I with List-II. 

List-I        List-II 

(Raw Materials)  (Industries) 

a) Agriculture  1. Sugar mills 

b) Forest   2. Cement 

c) Mineral  3. Paper mills 

d) Marine  4. Sea food processing 

gl;bay; - I –I gl;bay;- II cld; nghUj;Jf. 
gl;bay;- I   gl;bay;- II 
(%yg;nghUl;fs;)    (njhopw;rhiyfs;) 
a) Ntshz;ik - 1. ru;f;fiu Miyfs; 
b) fhLfs;  - 2. rpnkz;l; 
c) jhJf;fs; - 3. fhfpj Miyfs; 
c) fly;rhu; - 4. fly; czitg; gjg;gLj;Jjy; 
A) 1  2 3  4    B) 2  1  4  3 

C) 1  3 2  4    D) 2  4  1  3 
 

73. What is the contribution of India towards the world mica production? 

cyf ikf;fh cw;gj;jpapy; ,e;jpahtpd; gq;F ahJ? 
A) 60%   B) 40%   C) 66%   D) 50% 

 

74. In India which state ranks first in maize production? 

A) West Bengal  B) Jharkhand   C) Karnataka   D) Tamil Nadu 

,e;jpahtpy; ve;j khepyk; kf;fhr;Nrhsk; cw;gj;jpapy; Kjy; ,lk; tfpf;fpwJ? 
A) Nkw;F tq;fhsk; B) [hHfz;l;   C) fHehlfh   D) jkpo;ehL 
  

75. Soil erosion can be prevented by? 
A) Deforestation      B) Afforestation    

C) Over growing      D) Removal of vegetation  

kz;zhpg;igj; jLf;fg; gad;gLtJ? 
A) fhLfs; mopg;G     B) fhLfs; / kuk; tsh;g;G 
C) mjpfkhf tsh;j;jy;     D) jhtug; gug;G ePf;fk; 
 

76. Which word is “Adverb” ________ 

A) Dog   B) because   C) honest   D) quickly 

 

77. nghUj;Jf. 
1) $j;juhw;Wg;gil - (a) 3615 ghly;fs; 
2) Ky;iyg;ghl;L  - (b) 105 ghRuq;fs; 
3) ngUkhs; jpUnkhop - (c) 103 mbfs; 
4) Njk;ghtzp  - (d) 583 mbfs; 
A) 1(a) 2(c) 3(b) 4(d)     B) 1(b) 2(d) 3(a) 4(c) 

C) 1(d) 2(c) 3(b) 4(a)     D) 1(d) 2(b) 3(a) 4(c)  
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78. The fraction from of 2.4 56 is 

2.4 56 d; gpd;dtbtk;  

A) 
2456

99
   B) 

2456

9900
    C) 

2432

9900
    D)   

2432

990
 

 

79. The square root of 64𝑥4 − 16𝑥3 + 17𝑥2 − 2𝑥 + 1 is  

64𝑥4 − 16𝑥3 + 17𝑥2 − 2𝑥 + 1 d; tu;f;f %yk; ______ 

A) 8𝑥2 − 𝑥 + 1  B) 8𝑥2 − 4𝑥 + 1  C) 8𝑥2 − 4𝑥 − 1  D) 8𝑥4 − 4𝑥2 − 1 

 

80. Pyrethrum Extracted from the inflorescence of? 
A) Chrysanthemum B) Citrus    C) Agro bacterium  D) Bacillus 

ighpj;jpuk; vj;jhtu kQ;rupapypUe;J ghpj;njLf;fg;gLk;? 
A) fpiurhe;jpkk;  B) rpl;u];   C) mf;Nuh ghf;Bhpak; D) Ngrpy;y]; 
  
 
 

 Select the Related Number / word / letter? 

rupahd ,iziaf; fhz;f. 
81. 143 : 64 : :153 : ? 

A) 45   B) 81    C) 53    D) 49 

 

82. 289 : 17 : 961 : ? 

A) 29   B) 31    C) 27    D) 19 

 

 Find the odd one  / jtwhd xd;iw Nju;f? 
 

83. A) Ludo   B) Polo   C) chess    D) Carrom 

A) Y}Nlh   B) NghNyh   C) rJuq;fk;   D) Nfuk; 
 

84. A) EDC   B) IHG   C) KLM   D) VUT 

 

85. If KASHMIR is coded as 8142753, then RIMSHAK is coded as? 

KASHMIR  vd;gij 8142753, vd;W vOjpdhy;> RIMSHAK vd;gij vt;thW vOJtu;? 
A) 3 5 7 1 8 4 2  B) 3 5 2 1 4 7 8  C) 3 5 7 4 2 1 8  D) 3 5 7 4 8 1 2 

 

86. If INDUS is coded as 03865, then TENNIS is coded as 243305, then STUDENT is coded as? 

INDUS  vd;gij 03865 vd;Wk;> TENNIS  vd;gij 243305, vd;W vOjpdhy;> STUDENT vd;gij 
vt;thW vOJtu;? 
A) 5 6 2 8 3 4 2  B) 5 6 4 8 3 2 4  C) 5 2 6 8 4 3 2  D) 5 6 4 2 8 3 2 

 

87. If FASHION is coded as FOIHSAN, then PROBLEM is coded as? 

FASHION  vd;gij FOIHSAN, vd;W vOjpdhy;> PROBLEM vd;gij vt;thW vOJtu;? 
A) ROBLEMP  B) RPBOELM  C) PELBORM  D) PRBOELM 

PART ‘B’ : Psychology 



 
 

POLICE, ARMY, NAVY, AIRFORCE               Contact : Vellore– 72004 00398, Trichy – 81110 70708 Page 13 

 Find the missing Number in series? 

tpLgl;l vz;iz fhz;f? 
 

88. ?, 66, 198, 594 

A) 11   B) 22    C) 33    D) 23 

 

89. 3, 6, 8, 16, 18, ? 

A) 28   B) 36    C) 34    D) 54 

 

90. 8, 17, 36, 75, ? 

A) 154   B) 124    C) 174   D) 144 

 

91. 9, 17, 31, 57, ?, 205 

A) 102   B) 104    C) 109   D) 107 

 

 Find the missing letter in series 

tpLgl;l vOj;ijf; fhz;f. 
 

92. PRQ, UWV, ZBA, ?, JLK 

A) FHG   B) EGF   C) DFE   D)  FGE 

 

93. ADGJ, YUSP, KNQT, ? 

A) SUZB   B) QTWZ   C) OLIF   D) LORU 

 

 Arrange the following words according to English dictionary 

gpd;tUk; thu;j;ijfis Mq;fpy mfuhjpapy; cs;sij Nghy; tupirg;gLj;jTk;. 
94. 1) Save  2) Saffron 3) Saviour  4) Savage 

A) 2,3,1,4   B) 2,1,3,4   C) 2,4,1,3   D) 2,4,3,1 

 

95. If today is Friday what day will be on 63rd day? 

A) Thursday  B) Friday   C) Monday   D) Sunday 

,d;W nts;spf;fpoik vdpy;> 63-Mk; ehs; vd;d fpoik? 
A) tpahod;  B) nts;sp   C) jpq;fs;   D) QhapW 
 

96. 5 _ 3 _ 8 _ 4 _ 2 = 21 

A) +,×, +,÷  B) −,×, +,÷   C) ×, +, −,÷   D) +, −,×,÷ 

 

97. A ⇒ +, Q ⇒ −, V⇒ ×, R ⇒ ÷ 

225 R 5 A 64 Q 13 V 6 ⇒ ? 

A) 376   B) 476    C) 576   D) 31 
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98. In a class A is 12th from top and B is 18th from Bottom. How many boys are there in a class? 

xU tFg;gpy; A NkypUe;J 12 tjhfTk;> B fPopUe;J 18-tjhfTk; cs;sdu; vdpy; tFg;gpy; nkhj;jk; 
vj;jid Ngu;? 
A) 35       B) 18    

C) 27       D) Can‟t be determined / jfty; Nghjtpy;iy 
 

99. In a group, 𝑃 is smarter than R. Q is duller than T. P is smarter than T. Who is the smartest?  

xU FOtpy;> 𝑃 vd;gtu; R-I tpl rhku;j;jparhyp Q vd;gtu; T-I tpl ke;jkhdtu;. P vd;gtu;  T 
-I tpl rhku;j;jparhyp vdpy;> ahu; ,tu;fspy; kpfTk; rhku;j;jparhyp?  
A) P   B) R    C) Q    D) T 

 

 Choose venn diagram that relates three things. 
3-Ak; njhlu;G gLj;Jk; ntz;glj;ij Nju;f. 
 

100. Snakes, Reptiles, Lion 

ghk;G> Cu;td> rpq;fk; 

A)   B)    C)    D)  

 

 Study the diagram given below and answer each of the following questions. 

 
101. How many persons who take tea and wine but not coffee ? 

,jpy; vj;jid Ngu; B kw;Wk; itid kl;Lk; mUe;Jfpd;wdu; fhgp ,y;yhky;? 
A) 20   B) 17    C) 25    D) 15 

 

 Which one will replace the question mark? 

Nfs;tp FwpaPl;l ,lj;jpy; tuNtz;baJ vd;d? 
 

102.  

18 15 549 

17 19 650 

15 14 ? 

A) 210   B) 225    C) 196   D) 421 

 

103.  

7 9 6 

8 6 7 

3 5 ? 

168 270 126 

A) 5   B) 4    C) 6    D) 3 
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104. The length and breadth of a room are 8 m and 6 m respectively. A cat runs along all the four walls and 

finally along a diagonal order to catch a rat. How much total distance is covered by the cat? 

8 kPl;lu; ePsKk;> 6 kPl;lu; mfyKk; nfhz;l xU miwapy; xU g+id xU vypia Juj;jp gpbf;f 
ehd;F Rtu;fisAk; kw;Wk; miwapd;  %iytpl;lj;ijAk; fle;J nry;fpwJ vdpy;> g+id fle;J 
nrd;w njhiyT vd;d? 
A) 10   B) 14    C) 38    D) 48 

 

105. Simplify / RUf;Ff: 18 −  5 −  6 + 2 7 − 8 − 5    

A) 27   B) 25    C) 23    D) 20 

 

106. Simplify / RUf;Ff: 25 − 5 2 + 3 2 − 2 5 − 3 + 5 − 10 ÷ 4 

A) 4   B) 24.25   C) 23.75   D) 30 

 

107. Giridharlal‟s family consists of his wife Radha, 3 sons and 2 daughters. One daughter is yet to be 

married and the other daughter has a son. Two sons have 2 Children each and the third son has 3 

children. An old anut and son-in-law also stay with them. How many members are there in 

Giridharlal‟s Family? 

fpupju;yhy; FLk;gj;jpy; mtdJ kidtp> %d;W kfd;> 2 kfs;fs; cs;sdu;. xU kfSf;F 
jpUkzk; Mftpy;iy. ,d;ndhUkfSf;F xU kfd; cs;shu;. ,uz;L kfd;fSf;F jyh ,uz;L 
kfd;fSk;> %d;whk; kfDf;F %d;W kfd;fSk; cs;sdu;. xU tajhd mj;ijAk; kw;Wk;  
kUkfDk; cld; ,Ue;jdu; vdpy; mtupd; FLk;g cWg;gpdu;fspd; vz;zpf;if. 
A) 20   B) 19    C) 18    D) 17 

 

108. Count the number of triangles and squares in the given figure. 
nfhLf;fg;gl;l glj;jpy; vj;jid Kf;Nfhzq;fs; kw;Wk; rJuq;fs; cs;sd? 

 
A) 26 triangles, 5 squares / 26 Kf;Nfhzk;, 5 rJuk;    
B) 28 triangles, 5 squares  / 28 Kf;Nfhzk;, 5 rJuk; 
C) 26 triangles, 6 squares  / 26 Kf;Nfhzk;, 6 rJuk;    
D) 28 triangles, 6 squares  / 28 Kf;Nfhzk;> 6 rJuk; 
 

109. Count the number of triangles and squares in the given figure. 
nfhLf;fg;gl;l glj;jpy; vj;jid Kf;Nfhzq;fs; kw;Wk; rJuq;fs; cs;sd? 
 
 
 
 
A) 28 triangles, 3 squares / 28 Kf;Nfhzk;, 3 rJuq;fs;   
B) 24 triangles, 5 squares  / 24 Kf;Nfhzk;, 5 rJuq;fs; 
C) 28 triangles, 5 squares  / 28 Kf;Nfhzk;, 5 rJuq;fs;   
D) 24 triangles, 3 squares  / 24 Kf;Nfhzk;> 3 rJuq;fs; 
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110. In a garden, there are 10 rows and 12 columns of mango trees. The distance between the two 

trees is 2 metres and a distance of one metre is left from all sides of the boundary of the garden. 

The length of the garden is 

xU Njhl;lj;jpy; 10 tupirfshfTk; 12 neL tupirfshf khkuq;fs; elg;gl;Ls;sd. Xt;nthU ,U 
kuj;jpw;Fk; ,ilNa 2 kPl;lu; ,ilntspAk;> kw;Wk; Njhl;lj;jpd; ,UGwKk; xU kPl;lu; ,ilntsp 
tplg;gl;Ls;sJ vdpy; Njhl;lj;jpd; ePsk; vd;d? 
A) 20 m   B) 22 m   C) 24 m   D) 26 m 

 

111. There are deer and peacocks in a zoo. By counting heads they are 80. The number of their legs is 

200. How many peacocks are there ? 

xU tpyq;fpay; G+q;fhtpy; rpykhd;fSk; kw;Wk; kapy;fSk; cs;sd. mjd; jiyfis vz;zpdhy; 
80-k; fhy;fs; 200-k; ,Ue;jhy;> kapy;fs; vj;jid? 
A) 20   B) 30    C) 50    D) 60 

 

112. There are twelve dozens of apples in a basket. Two dozen are added later. Ten apples got spoilt 

and are removed. The remaining are transferred equally into two baskets. How many are there in 

each? 

xU $ilapy; 12 lrd; Mg;gps;fs; cs;sJ. rpwpJ Neuk; fopj;J 2 lrd; mjDld; Nru;f;fg;gLfpwJ. 
gj;J Mg;gps;fs; mOfp ntspNaw;wg;gLfpwJ. kPjKs;s Mg;gps;fs; ruprkkhf ,uz;L $ilfspSk; 
gpupj;J itf;fg;gLfpwJ vdpy; ,uz;L $ilfspYk; vj;jid Mg;gps;fs; cs;sJ? 
A) 168   B) 158    C) 79    D) 89 

 

113. The important characteristic of creative thinking is _______. 

A) Good memory      B) Previous Experience   

C) Originality      D) Good Communication skills 

Mf;fj;jpwdpd; Kf;fpakhd jd;ik vd;gJ _____. 

A) rpwe;j epidthw;wy;     B) Kd; mDgtk; 

C) jdpj;jd;ik      D) ey;yBgr;Rj; jpwd; 

 

114. Sruthi is 6 years old but she can solve problem which 9 years old children can solve. Therefore her mental 

age is  

RUjp vd;w 6 taJ rpWkp, 9taJ mile;j rpWtu;fis Bghy; gpur;ridfSf;F jPu;t[ 

fhz;fpwhs; mtsJ cs taJ vd;d? 

A) 15 years  B) 9 years   C) 6 years  D) 7 years 

 

 DIRECTIONS (Q.Nos. 115-119)  

Answer the questions given below based on this pie chart. 

             Marks Obtained by a Student in an Examination 

        Total marks obtained by him = 540 

xU Nju;tpy; xU khztd; ngw;w kjpg;ngz; = 540 
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115. In which subject, did the student obtain 105 marks? 

ve;j ghlj;jpy; me;j khztd; 105 kjpg;ngz;fs; ngw;whd;? 
A) Maths    B) Social studies  C) Science    D) Hindi 

 

116. What is the central angle corresponding of Science? 

mwptpay; ghlj;jpd; Nfhz msT vd;d? 
A) 40°    B) 80°   C) 75°    D) 60° 

 

117. How many more marks were obtained by student in Maths than those in Hindi? 

,e;jp ghlj;ij tpl fzpjghlj;jpy; me;j khztd; vt;tsT kjpg;ngz;fs; mjpfk; ngw;whd;? 
A) 30    B) 20    C) 10     D) 40 

 

118. How many marks were obtained by the student in Science? 

mwptpay; ghlj;jpy; khztd; ngw;w kjpg;ngz; vd;d? 
A) 130    B) 120     C) 125    D) 140 

 

119. What is the percentage corresponding to English subject? 

Mq;fpy ghlj;jpd; rjtPjk; fhz;f? 
A) 16.8°   B) 15.2°   C) 18°    D) 17.4° 

 

Read the following passage and answer the questions 120 – 122 

Seven children A, B, C, D, E, F, and G are standing in a line. ‘G’ is to the right of ‘D’ and to the left of ‘B’. 

‘A’ is on the right of ‘C’, ‘A’ and ‘D’ have one child between them. ‘E’ and ‘B’ have two children between 

them. ‘D’ and ‘F’ have two children between them. 
fPBH bfhLf;fg;gl;Ls;s gj;jpia goj;J 120 – 122 tiu Bfs;tpfSf;F tpilaspf;ft[k;: 

7 FHe;ijfs; A,B,C,D,E,F & G tupirapy; epw;f itf;fg;gl;Ls;sdu;.’G’ ,’D’ tyJ g[wj;jpYk; ‘B’f;F 

nlJ g[wKk; cs;sJ. ‘A’,’C’ apd; tyJ g[wk; cs;sJ. ‘A’ f;Fk; ‘D’ f;Fk; nilapy; xU FHe;ij 

cs;sJ. ‘E’f;Fk; ‘B’f;Fk; nilapy; nU FHe;ijfs; cs;sd.’D’f;Fk; ‘F’f;Fk; nilapy; nU 

FHe;ijfs; cs;sd. 

 

120. Who is on the extreme right? 
tyJg[wj;jpy; filrpapy; cs;s FHe;ij vJ? 

A) B           B) E           C) F         D) G 

 

121. Who is exactly in the middle? 
rupahf eLtpy; cs;sJ ahu;? 

A) A          B) C          C) D        D) E 
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122. Who is on the extreme left? 

nlJg[wf; Bfhoapy; cs;sJ ahu;? 

A) A   B) B    C) C    D) D 
 

123. Read the following passage and answer the question. 

A,B,C,D and E are the five employees working in a company from Monday to Friday Each one is 

working for only one day. D and E will not work  on weekends. C will work on the day after E is 

working. D will work on the day before the B‟s working day. Who will work on Monday? 

fPof;fz;l gj;jpiag; gbj;J Nfs;tpf;Fg; gjpy; jUf. 
A,B,C,D  kw;Wk; E Mfpa Ie;J Ntiyahl;fs; xU epWtdj;jpy; jpq;fs; Kjy; nts;sp tiu 
Ntiy nra;fpwhh;fs;. xt;nthUtUk; xU ehs; kl;Lk; Ntiy nra;fpd;wdh;. D kw;Wk; E thu ,Wjp 
ehl;fspy; Ntiy nra;akhl;lh;fs;. E Ntiy nra;tjw;F mLj;j ehs; C Ntiy nra;thh;. Ntiy 

B nra;j ehSf;F Kd; jpdk; D  Ntiy nra;thh;. 
jpq;fl;fpoik Ntiy nra;gth; ahh;? 
A) A   B) B    C) C    D) D 

 

124. How many odd numbered pages are there in a book of 1089 pages? 

1089 gf;fq;fs; nfhz;l Gj;jfj;jpy; vj;jid xw;iwgil vz;fs; nfhz;l gf;fq;fs; cs;sd? 
A) 542   B) 545    C) 544   D) 546 

 

125. A person is given 1 rupee for shooting at the target and if he misses, then he has to give 1 rupee. If he gets 

30 rupees for 100 chances then how many chances did he miss? 

xU kdpjDf;F ,yf;if Nehf;fp rupahf Rl;lhy; xU &ghAk;> mg;gb ,yf;fpy; Rltpy;iy vd;why; 
mtd; xU &ghAk; juNtz;Lk;. mtDf;F 30 &gha; fpilf;fpwJ 100 Kaw;rpfspy; vdpy; vj;jid 
jlit mtd; ,yf;if jtwtpl;bUg;ghd;? 
A) 25   B) 35    C) 40    D) 45 

 

126. The average marks of 120 students are 35. If the average of passed students was 39 and failed student was 

15, then find the number of students who have passed. 

120 khztu;fspd; ruhrup kjpg;bgz; 35. Bju;thdtu;fspd; ruhrup 39 kw;Wk; 

jtwpatu;fspd; ruhrup 15 Mf nUf;Fk;bghGJ Bju;thdtu;fspd; khztu;fspd; 

vz;zpf;if vd;d? 

A) 80   B) 100    C) 70    D) 90 

 

127. When 75 is added to the 75% of a particular number, then the resultant is equal to that particular number. 

Find that number? 

75-I xU Fwpg;gpl;l vz;zpd; 75% cld; Tl;Lk; BghJ me;j Fwpg;gpl;l vz; 

fpilf;fpd;wJ vdpy; me;j vz; vJ? 

A) 75   B) 150    C) 300    D) 200 
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128. In a school 80% of students are boys. Total girls is 500, then total  boys is 

xU gs;spapy; gapYk; khztu;fspy; 80% Bgu; Mz; khztu;fs; me;j gs;spapy; 500 

bgz; khztu;fs; cs;sdu; vdpy;, Mz; khztu;fs; vz;zpf;if fhz;f. 

A) 2500   B) 2000   C) 1050   D) 1500 

 

129. By selling an article for Rs. 100, a man gain Rs.15 Then his gain % 

xU bghUspd; tpw;gid tpiy U}.100. mjpy; xUtu; U}.15 yhgk; milfpwhu; vdpy; nyhg rjtPjk;?. 

A) 15%   B) 12 
2

3
 %   C) 17 

11

17
 %   D) 17 

1

 4
 % 

 

130. Price of scooter and Tv are in the ratio  7:5, If the scooter cost is Rs. 8000  more than a Tv. Find  the price of 

TV 

xU nUrf;fu tz;o kw;Wk; bjhiyfhl;rp bgl;oapd; tpiyfs; 7:5 vd;w tpfpjj;jpy; 

cs;sJ. bjhiyfhl;rp bgl;oia tpl nUrf;fu tz;oapd; tpiy 8000 mjpfk; vdpy;, 

bjhiyfhl;rp bgl;oapd; tpiy fhz;f. 

A) 4000   B) 20,000   C) 5000   D) 16,000 

 

131. Two numbers are in the ratio 8:5 the largest number is 27 more than the smallest number find the sum of the 

two numbers. 

nU vz;fspd; tpfpjk; 8:5 rpwpa vz;iz tpl bgupa vz; 27 mjpfk; vdpy; nU 

vz;fspd; Tl;Lj;bjhif fhz;f. 

A) 78   B) 231    C) 117    D) 154 

 

132. The averge age of 5 officiers in a deparement is 32 years. It the age of their supervisor is added the average 

age is increased by 1 What is the supervior’s age? 

5 mYtyh;fspd; ruhrhp taJ 32 tUlA;fs; Bkyhshpd; taij Tl;Lk; bghGJ ruhrhp 

1 mjpfhpf;fpwJ vdpy; Bkyhshpd; taJ vd;d? 

A)32   B)48    C)38    D)42 

 

133. The ratio of the present ages of sunitha & vinitha is 4:5 six years hence the ratio of their ages will be 14:17. 

What will be the ratio of their ages 12 years hence? 

Rdpjh & tpdpjhtpd; jw;Bghija taJ fspd; tpfpjk; 4:5. 6 tUlA;fSf;F gpd;g[ 

mth;fspd; taJfspd; tpfpjk; 14:17 vdpy; 12 tUlA;fs; gpd;g[ mth;fspd; taJfspd; 

tpfpjk; vd;d? 

A)15:19   B)13:15   C)16:19   D)17:19 

 

134. A can do a certain job in 12 days. B is 60% more efficient than A. How many days does B alone take to do 

the same job? 

A vd;gtu; xU Btiyia 12 ehl;fspy; Kof;fpwhu;. B vd;gtu; A vd;gtiu tpl 60% 

mjpfk; jpwika[ilatu; vdpy; mt;Btiyia ‘B’Kof;f vj;jid ehl;fshFk;? 

A) 6
1

2
                      B) 5 

1

2
                           C) 7 

1

2
                             D) 8 

1

2
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135. A does a work in 10 days and B does the same work in 15 days. In how many days they together will do the 

same work? 

A vd;gtu; xU Btiyia 10 ehl;fspy; Kof;fpwhu; mBj Btiyia B vd;gtu; 15 

ehl;fspy; Kof;fpwhu; vdpy; nUtUk; mBj Btiyia nize;J bra;jhy; vj;jid 

ehl;fspy; Kog;gu;? 

A) 5   B) 6    C) 8    D) 9 

 

 Directions (Q. No. 136-140) 

Study the following information carefully and answer the questions accordingly. 

Eight persons A, B, C, D, E, F, G, and H sit around a circular table facing the center. G sits fourth 

to the right of F. Two persons sit between G and B. C sits third to the right of B. Two persons sit 

between C and D. E sits third to the right of A who is not sitting near to C. 

fPo;f;fz;l jfty;fisg; gbj;J tpdhf;fSf;Nfw;w tpilaspf;fTk;. 
A, B, C, D, E, F, G kw;Wk; H MfpNahu; xU tl;lNkirapy; ikaj;ij Nehf;fp mku;e;Js;sdu;. G 
vd;gtu; F-d; tyg;Gwk; ehd;fhtjhf mku;e;Js;shu;. G kw;Wk; B-d; ,ilapy; 2 Ngu; mku;e;Js;sdu;. 
C vd;gtu; B-d; tyg;Gwk; %d;whtjhf mku;e;Js;sdhu;. C kw;Wk; D-d; ,ilNa ,Utu; 
mku;e;Js;sdu;. E vd;gtu; A-tpd; tyg;Gwk; %d;whtjhf cs;shu;. A vd;gtu; C-d; mUfpy; ,y;iy. 

 
136. Who among the following sits third to the left of B? 

B-d; ,lJGwk; %d;whtjhf cs;stu; ahu;? 
A) G   B) E    C) H    D) C 

 

137. Who among the following sits fifth of the right of F? 

F-d; tyJGwk; Ie;jhtjhf cs;stu; ahu;? 
A) A   B) D    C) E    D) C  

  

138. How many persons sit between D and E? 

D kw;Wk; E-d; ,ilNa mku;e;jpUg;gtu;fs; vj;jid Ngu;? 
A) 1   B) 4    C) 3    D) 2 

 

139. Who sits opposite to “C”? 

C-d; vjpNu mku;e;jpUg;gtu; ahu;? 
A) G   B) B    C) D    D) A 

 

140. Who are the neighbours of F? 

F-d; mUNf mku;e;jpUg;gtu;fs; ahu;? 
A) B, E   B) C, E   C) H, A   D) G, H 
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